
Fundament
ø 25,50

Tiefe der Abstandsfläche=

Bauwerkshöhe (249,50m)*0,3

=74,85m

Rotorradius=87,50m
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 2 Fundament
 3 Turm
 4 Treppe
 5 Containerfläche
 6 Zuwegung
 7 Parkfläche
 8 Lagerfläche
 9 Kranstellfläche
10 Müllsammelplatz

WEA 22

WEA 22
ENERCON E-175

NH: 162,00m
RD: 175,00m
GH: 249,50m

Standort Geländehöhe
am Turmmittelpunkt:   235,70 NHN
Nabenhöhe:                397,70 NHN
max. Rotorspitze:        485,20 NHN

UTM / ETRS89-Koordinaten
Rechtswert:               32 489719,00
Hochwert:                     5719589,00

Gauß-Krüger-Koordinaten
Rechtswert:                   3489788,6
Hochwert:                      5721437,5

Geogr. Koordinaten
Geogr. Breite:           51°37`38,013"
Geogr. Länge:            8°51`05,299"
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Schroenhinnerk
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Gemeinde: Lichtenau
Gemarkung: Lichtenau
Flur: 1

Gemeinde: Lichtenau
Gemarkung: Ebbinghausen
Flur: 1
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Abstandsflächenbaulast
Fläche: 6119m²
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